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1. Eeietd HiR 3w wes mnda $7 agd stvam sefiyg sme 2

(a) T 9gd (smomEen) (b) forh Seurere

(¢) a9AA (d) VRMEI-AEATH FHrHTFHA
TR IW '

(1) e (a) AT (b) (2) waEd (c) AT (d)

(3) W (a), (b) 3T (c) 4) % (a), (b) 0 (d)
Which of the following are biological factors that determine the type of'agricu‘lture in
the region ?

(a) Cropping pattern (b} Crop rotation

(¢) Temperature (d) Photosynthetic efficiency
Answer Options :

(1) Only (a) and (b) (2) Only (¢} and (d)

(8) Only/(a), (b) and (¢) | (4) Only (a), (b) and (d)

2.  wErclieid HoR/mod fue/fAan st s/ ?
(a) o aRETEN e WU W, TR, WS, gents §i S
(b) = € EfiE gliween .
(¢) YMFEOE (S, Tadies WY, diesde) ST Jo=l (F°es a1 Aiva) & afits qfwsn
TR

gt I

(1) %=d (a)

(2) e (b)

(3) a4 (a) AT (b)
(4) % (a) 30T (c)

Which of the following statement/s is/are true ?
(a) Example of artificial ecosystem is croplands like maize, wheat, rice-fields, etc.
(b} Garden is a natural ecosystem.

(c) Terrestrial (forest, grasslands, deserts) and aquatic (lotic or lentic) are the '
natural ecosystems.

Answer Options :
(1) Only (a)
(2) Only (b)
(3) Only(a) and (b)
{4) Only(a)and (c)
o FHTITS AW / SPACE FOR ROUGH WORK , P.T.O.
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3. =it omft =rEET WA Aa H oo gerarmed averda /g woft
fY gewshta o= anfeae. |
(1) Safafaga (2) i@
(3) orgasfis fafaga (4) AT ATE
may be defined as the sum total of species richness i.e., number of species
of plants, animals and micro-organisms occurring in a given habitat.
(1) Biodiversity (2) Ecosystem
(3) Genetic diversity (4) None of these
4. WY FTHE AT =41 9fEe YIRasad 9d % Hieaid Eie e Sive 0% snfam ¢
(a) gIFS (b) wMg"
(¢) u®lgast : (d) W@
gt 3
(1) % (a) A (c) (2) & (b) 3o (d)
(3) %a (a) M (d) (4) wd (b) A (c)
~ Which of the following crops should be grown if the rains start in the first fortnight
of August during the Kharif season ?
{a) Sunflower ' {b) Cotton
{(¢) Hybrid pearl millet ‘ (d) Rice
Answer Options:
(1} Only (a) and {c) (2) Only (b) and (d)
(3) Only(a)and (d) ‘ - (4)  Only (b) and (¢)
5. g gy oie (fadf) wemaden gammAeE aoad 2.

(1) TaEHEIEH (2) damH

(3) A (4) PN gEWEIE
is commonly considered to be the weather averaged over a long period of
tirhe.
(1) Meteorology (2) Climate
(83) Hydrology (4) Agrometeorology

FEEGT HETATST SIFN / SPACE FOR ROUGH WORK
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6. e ar ¢
e fammo
(a) WA AR, S WEg
(b) TA.STSH.AR. (i) AT
(c) H.uFS. AR, (iii) =TS
(@) €t.em . am. (iv) e foeeht
it I
(a) (b) (e) (d)
1) Gv) (iii) 1) (ii)
(2) (ii) (ii) (iv) (i)
3 W (iv) (iii) (i)
(4) (ib (L (i1) (iv)
Match the following : ,
Institution Location
(a) NBPGR (i) Jodhpur
(b) NBAGR (ii) Nagpur
(¢} CAZRI (iii) Karnal
(d) CICR (iv) New Delhi

Answer options:
(a) (b) (c) (d)

(1  Gv) (iii) 1 (ii)
(2) (iD (ii) (iv) (i

(3 @ @iv) (iii) (ii)
(4) (i) i) (ii) (iv)

7. FroTET far 7w IR seadiEaE! faama e smomn TrgniET foeaR e

FIHFTE FIOT §5¢1 TRV T Sga.
(1) wimfas (2) wifessh™

@ (@) i
Climate change is a change in the properties of the climate system when
considered over long periods of time, regardless of cause.
(1) Geographical (2) Statistical
(3) Biological (4) Physical

Toed] HHRATS! OIFT / SPACE FOR ROUGH WORK P.T.O.
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8. it aveqdl Aardl ol anfn S SEAEEs 9 IUCRYdl & HEE TeE ARG W

QAT ST AT freesater HE<E™ Ugeh HTed.

(1) TEERA (2) Al

(3) zcfiam (4) fre=

On land, availability of water and CO, are important factors for plant growth, while
in water, light and dissolved are important factors.

(1) Hydrogen (2) Oxygen

(3) Helium (4) Methane

9. s Hemadined Geialdl FIVET IWEHd aAd! @O Gqga Qo= dfg
vgIAiaeT T aHeTd IS IR THIONE Higaw g ?
(1) T Wi Seagshar (2) fsaz nafie e
(3) fieaes aggrrh searghar (4) =T e
Which of the following productivity refers to the storage of organic matter in plant
tissues exceeding the respiratory use by plants during the period of measurement ?
(1) Gross primary productivity (2) Net primary productivity
(3) Net community productivity (4) Secondary productivity

10, @reliadhl Hoa faus st omR ?
(a) wrREEeN AEHe, e 87 aed A i HY fagerdia Wi, sgs faga i

. gget vy die HogTg wEt 3d AR,
(b) wiREEe FEe, (oo &7 ared R Sfr iy famrrdier widiges, weds aud de
, vt faega s Sverg Wl 3@ aew.
aaidt I8 ;
(1) = (a) | (2) % (b)
(3) (a) 3 (b) (4) HIUTAE SR TE

Which of the following statements is correct ?

(a) With the increase in population, the irrigated area is increasing and with
advances in agricultural sciences, most of the extensive cropping patterns are
giving way to intensive cropping.

(b) With the increase in population, the irrigated area is increasing and with
advances in agricultural sciences, most of the intensive cropping patterns are
giving way to extensive cropping.

Answer Options :

(1} Only (a) (2) Only (b)

(3) (a)and (b) (4) None of the above

TTT BHTITS ST / SPACE FOR ROUGH WORK
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11. W SIEYd Igdy i e Icaey o gaar 9 st s Souea uieiel S =y
TR,

(1) ferfsh gitemar
(2) I e
(8) <Pl waT
(4) I TE

___is the capacity of the soil to produce crops with specific systems of
management and is expressed in terms of yield.

(1) Soil fertility
(2) Soil productivity
(3) Soil density

(4) None of these

12. yefidesteRdt onffacata sl Wl ST S 9T USd HG W HOEhigd  HTHATGR
i ATfor fagemu w9 =™ 8 HEaE.

(1) e s (F9=a®)
(2) ivifers mifedt swawn
(3) wiifer

@ s g wh

is a computer based tool for mappmg and analysing thmgs that exist
and events that happen on the Earth.

(1) Geographic coordinates

(2) Geographic information systém
(8) Geographic reference |

(4) Geographic database

TCEAT BTHTATS! AT / SPACE FOR ROUGH WORK P.T.O.
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13.  Sires & :

T farfts vgam

(@) Oe

(b) Bz

¢y Cy

(d) Ap

gt I ¢
(a) (b)

(H @ (iii)

2) Gw) (iii)

3 v (iv)

(4) (ii) (ii)

Match the following :
Soil horizone
designation

(a) Oe

(b) Bz

() Cy

(d Ap

Answer options :

(1)
(2)
(3)
| 4)

(a)
(1)

(iv)
(ii)

(iii)

(b)
(iii)
(iii)
(iv)
(ii)

(¢
(iv)
(i1)
(1)
®

(e)
(iv)
(ii)
(i)
(i)

wftre auia
() wuTTE feRar g ST
Gi) Rt g9
(i) ﬁwﬁmmﬁwwm
(iv) faoda @ v

(d)
(i) -
(i)
(iii)
(iv)

Brief description

(i) Tillage or other disturbances

(i) Accumulation of gypsum

(iii) Accumulation of salts more soluble than gypsum

(iv) Decomposed organic matter

(d)
(ii)
)
(iii)

(iv)

F] HHETEIS! ST / SPACE FOR ROUGH WORK
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i swgs EL{LS)

(a) TeTYa IZA G) a=

(b) Wi =T (i) TFG

(c) T&W I=gA (iii) ¥Eyg

(d) Y&u AAgA (iv) TaH

it 3t

(a) | (b) (c) (d)
(1) (D (iii) Gv) (1)

(2) (ii) (ii) (iv) (i) .
(3} (i) (iv) (i) (iii)
4 @ (ii) (i) (iv)
Match the following :
Plant nutrients : Example
(a) Basic nutrient (i) Copper

(b} Primary nutrient (ii) Phosphorus
{(¢) Secondary nutrient (iii) Oxygen
(d) Micro nutrient (iv) Sulphur

Answer options :
(a) (b) (c) (d)

(1 G (iii) (iv) i)
(2) (ii) (i) (iv) 4y
(3) (i) (iv) @ (iii)

4 @ (i) (iii) (iv)

16.  Fiawrdia g YA arrd yerfia arffeongan o o s .
(1) 0002 fu fu. 9=n =it (2) 0-0027 0-05 fir.fa.
(3) 0-00120-01fafa. (4) 0-007 7 0-09 fir far,

The diameter of clay particles as per the International Seoil Science Society
Standards classification is

(1) Lessthan 0-002 mm (2)  0-002 — 0-05 mm
(3) 0001 —0-01 mm (4) 0-007 — 0-09 mm

T FTHETS! ST / SPACE FOR ROUGH WORK - - ' P.T.O.
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16.  THEURIIE IR A S "ee aEd, Fididie U A AT 3,
aTefiea it Wehedt HH wEA TS S AT wfse i g,
(1) iR Tge o=ar (2) wftrfeh s
(3) @ : ' (4) iR farear (Srewan)

In general, higher the the more compact is the soil, the more poorly
defined is the soil structure and there are smaller amount of pore spaces that
restrict the plant growth.

(1) bulk density of the soil (2) soil acidity

(8) minerals (4) soil alkalinity

17. o i ygdme oW onfUr S yedd g wiiey sl fiF (vee w
Arzorl) Infor yR widsy 7 S fiE (9 ATeuId) T IS U YgATd Sael! ST,
1 = (2) TR (3) W& (4) ATRTH

cropping is a system of crop production in which long and narrow strips
of erosion resisting crops (close growing crops) are alternated with strips of erosion
permitting crops (erect growing crops). ‘
(1) Mixed (2)° Sequence (8) Strip (4) Inter

18. aﬁ:ﬁwuﬁgﬂmﬂammﬂaﬁﬁ%mﬁfﬁa(ﬁﬁa) | DICER LI

(a) T
(b) WEEr

(¢) fawor =m

it 3t ; .

(1) %= (a) ' (2) B (b)

3) = (c) (4) IR T

The Cation Exchange Capacity (CEC) increases with increase in content

of the soil.

(a) sand

(by silt

~{e) clay

Answer Options :

(1) Only(a) (2) Only (b}

(3) Only(c) (4) None of these
FoedT HHTEST AR / SPACE FOR ROUGH WORK
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19. e ¥ YA S IS AR et @ T queh o1 6t

(1) e (2) dfga o

(8) focir, g1 9 3 &R (4) g AEEESH! s

Soils containing high amount of show the colour variation from black to

dark brown.

(1) iron (2) organic matter

'(3) silica, lime and other salts (4) mixture of iron oxides
20. s AT

q gy
(a) UgrArSH () T Sowdt, waao I FfiE
(b) sEHIATH (i) gefe gauTTadis afie SrEwr () s
e 91e g

(c) Yefarsh (iii) weHE e

(d W& (iv) F=I FTeadi=aT gEhong Ter

gt 39

(a) (b) (e) (d)
1) @ 3in @iv) (ii)
(2) (iii) (iv) (1) (i1)

(3) @ 1) (iii) Gv)
4 G (iii) (ii) (i)
Match the following :
Term Relation
(a) Petrology (i) Genesis, survey and classification of soil
(b) Edaphology (ii) Natural body on the Earth’s surface in
which the plant grows
(¢) Pedology (iii) Science of rocks
(d) Soil (iv) Soils from standpoint of higher plants

Answer options :

(a) (b) (e} (d)
1) @ (iii) (iv) (i)
(2) (i1 (v) i) (i1)
(3) Gb 49 (iii) (iv)
4) @v) (iii) . (iD) (i)

FoeqT HHTETS! WIFN / SPACE FOR ROUGH WORK. P.T.O.
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21. ekl ST qrEEr 9Ivl GiEEaul (SAgHoT) o] I SR ?
(a) TIEHS AT R TTSELE
(b) i it uraet arefauarardt
(c) A Jroar= TguYT il HUATHIE!
(d) UEETRT QOEET A9ET F grE FHH FOEE
it I ;
(1) % (a), (b) H (c)
(2) % (b), (c) 20T (d)
(3) % (a), (c) HT (d)
(4) abensd ud

Which of the following are the objectives of rainwater harvesting ?
(a) To avoid flooding of roads

(b) To raise the groundwater table

(¢} To reduce groundwater contamination

(d) To reduce run-off loss

Answer Options :

(1) Only (a), (b) and (¢)

(2) Only (b), (¢) and (d)

(3) Only (a), (c) and (d)

(4) All of the above

22. T ST d9 R SAHS qUEET 39saY FHIG sHHY shell WTal fohaT wroamET
AT FHIEYT TgdH a9 FAl !,

(1) YeEury
(2) TAEEI

(3) T
(4) negs

is the management technique which eliminates the wastage of water or
maximises the efficiency of its use. '
(1) Soil conservation
(2) Water convention
(3) Evapotranspiration
(4) Vegetation

e HHTATS! SIRIT / SPACE FOR ROUGH WORK
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HISAg BAE WOHIAE 7 HErEl S AWedH WL SR TEREHTS Gt
@1 34 .

(a)
(b)
(c)
(d)

AT
qaqHH=

afre (ot
I

it I ;-

(D
(2)
3)
(4)

% (a)
%d (c)
w4 (a) 30 (b)
wed (a) A0 (d)

Chemical fertilizers on large scale cannot be used in dryland areas due to the
problem of soil :

(a)
(b)
(c)
(d)

Structure
Temperature
Moisture
Texture

Answer Options :

(L
(2)
(3)
4)

Only (a)
Only (c)
Only (a) and (b)
Only (a) and (d)

24.

TR IeareA anfor urof AT s § ¥ R W TR,

(1)
(2)
(3)
4)

. The

(1)
(2)
(3)
4)

AR g Srean
THTVEMR A SEn
A JUNE TaTET TR
lterdeh od

maximum yield and water use efficiency is possible only through optimum

Level of soil moisture
Plant population
Fertilization

All of the above

O BIHFATS! AT / SPACE FOR ROUGH WORK : P.T.O.
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25. S G aroft aEm s dew e gdler sl B WA
(a) To=FTR aRaRa area
(b) To==rh arawar w4 w0
(¢} dTuEErEA Wl e qoaITET SRt wred e Iede
(d) Wit IR SemarEa Swdta s dien et
it I :
(1) %= (a) - (2) HaE (b
(3) ®Fd (o) - (4) W (d)
When irrigation water is expensive, irrigation should be scheduled to :
(a) Increase the irrigation frequency
(b) Decrease the irrigation frequency
(¢) Maximise crop production per unit of applied water
(d) Maximum crop production per unit area
Answer Options:
(1) Only (a) : (2) Only (b)
(3) Only (¢) (4) Only(d)
26. Y @ (gohie) ff e HRO TEUN

(a) IR TMHHAA
(b) UIEE™ It famor

(c) tlﬁm%ﬁ‘c‘-fiag

(@ W FER s )

Wf'd:l“ﬁl“i:

(1) (a) 37T (b) SO 3MRa (2) (a), (b) M7 (c) wW=X T2
(8) () 3nfon (d) FA= 3R (4) @ T s ARd

The important causes for agricultural drought are :
(a) Inadequate precipitation

(b) Erratic distribution of rainfall

(c) Longdry spell

{(d) Late onset of Monsoon

Answer Options :
(1) (a)and (b) are correct (2) (a), (b) and (¢) are correct
(3) (c) and (d) are correct (4) = All are correct

Foeq] HRTS! SR / SPACE FOR ROUGH WORK
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27. WU SHEEATHTE IE Hod 1ed ?
(a) W& =R Toemefia/fmior =
(b) <fF=T SriEm T
(¢} TR Femor ,
(d) UL, HY T Nefrfie WETEE g ol gEe
it I :
(1) & (a) 30 (d)
(2) wd (b) 3 (c)
(3) w%& (b), (c) M (d)
(4) W (a), (b) 3 (c)

What are the objectives of watershed management ?

(a) Development of field channels

(b) Efficient use of land

(¢) Flood control

(d) Adequate water supply for domestic, agriculture and industrial needs
Answer Options :

(1) Only (a)and (d)

(2) Only (b)and (¢)

(3) Only (b), (c) and (d)

(4) Only (a), (b) and (c)

28. WEliE For fis @ S geaTorRgseaT S wgasta g ?
(1) ¥
(2) el
(8) T
(4) ¥Hoal
Which crop, among the following, is relatively more tolerant to saline soils ?
(1) Rice
(2) Barley
(3) Chickpea
(4) Radish _
Foeg1 HTHATS WRT / SPACE FOR ROUGH WORK P.T.O.
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29. 91 ATl faga aesar @ fieh wrmw v et omd, @ unht agos
| Rt sk wd wREia Riwrardt i s,
(a) 257«
(b) 25 & A
(¢) 75w=
(d) 759 SR
qaidt 3w
(1) & (a) (2) & (b) AN (c)
(3) %F(c) (4) e (d)
Water with EC value milli Siemens per metre is suitable for irrigation of
most of the crops on most of the soils.
(a) upto25
(b) above 25
(c) upto75
(d) above 75
Answer Options :
(1) Only (a) (2) Only (b)and (c)
(8) Only (e (4) Only(d)

30. STSHITHSATGH BT UTUITET S HHT AT 4 ¢
(a) SfETSIICHSH ATREA

(b) UUEdeh ATTEA

(c) de Uush Irae

Wﬁ?ﬁ:

(1) 5 (a) A0 (b) (2) e (b) TIT (c)
(3) & (a) ATV (¢) (4) aherdh od

Water loss through transpiration can be reduced by :
(a) Using antitranspirants

(b) Using reflectants

(¢) Using growth retardants

Answer Options :
(1) Only(a) and (b) (2) Only(b)and (c)
(3) Only (a) and (c) (4) All of the above

FodT FHETATS! STRT / SPACE FOR ROUGH WORK
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31. 349 1619wdd IY TS TR TATH AT .
(a) STEHEEIG (b) W He S (Wgra)
() W= (@ smm
it I
(1) % (a) 3T (b) (2) 5 (a), (b) AT (c)
(3) w4 (a), (c) M (d) 4) (a), (b), (c) AN (d)
By 1619 A.D., English factories were established at .
(a) Ahmedabad (b) Fort St. George (Madras)
(¢) Broach (d) Agra
Answer Options :
(1) Only (a) and (b) (2) Only(a), (b) and (c)
(3) Only (a), (c) and (d) (4) (8),(b), (c) and (d)
32. @eli| ISR 9 w9 e

(a) AT Bl TAYAT AlE dorsei el

(b) Rl 3 T foE B4,

{¢) F.9. 1800 He q TUUA ;.

(d) whu=ar AR ST A9 T winger @ o gR.
qaidt I :

(1) wew el $aw

(2) TR el TEAESEH

(3) AfuR=dt Fiew

(4) I famam wia

Select the correct option based on the description given below :

(a) This college was founded by Lord Wellesley.

(b} It was located in Calcutta.

{c) Itwas founded in 1800 A.D.

(d) The civil servants of the company were given special training here.

Answer Options :

(1) Baptist Missionary College

(2) General Assembly’s Institution
(3) Presidency College

(4) Fort William College

HEEgT FHRITS! SR / SPACE FOR ROUGH WORK - PT.O.
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33. Wi AN FieAr WG, /8 Faur/faum we ame/enee.
(1) T HRAE GERUETE W 8.
(2) B AR I Irch e @@= eyt g9 2.
(3) TR FaM i g Hedl.
(4 (D), (2), (3) ¥ g I7mRA.
With reference to Lord Mayo, this/these statement/s is/are true.
(1) He was interested in Jail Reforms.
(2) He had friendly relationship with Sher Ali, the Ameer of Afghanistan,
(3) He was murdered by a prisoner.
(4) (1),(2),(3) all are true.

34, Tuferm =t =fdvr waa Fiver amiiss S=adien ST fesfl 2

(1) o1& we (2) frataiteea dEmd

(3) ST TwT (4) wTEN g

Which social movement was propagated by Veeresalingam in South India ?
(1) Arya Samaj (2) Theosophical Society

(3) Prarthana Samaj (4) Brahmo Samaj

35. &a 9\¥ I EReh! Five g dET S ?

(a) EE AHH SHeE (b) 7 fashe a1iw g ag

(c) < faafem e Im (d) T A g e

LRI TS

L (@), (b), () AT (d) (2) % (a), (b) 307 (c)

(3) = (b), (c) AT () (4) ®F (a) A0 (b)

Which of the following books were written by Aurobindo Ghosh ?

(a} The Precepts of Jesus (b) The Secret of the Vedas
(¢) The Synthesis of Yoga (d) Essays on the Gita

Answer Options :
(1) (a), (b), (¢) and (d) {2) Only (a), (b) and (c)
(3) Only (b), (c) and (d) (4) Only (a) and (b)

T HHTATS TR / SPACE FOR ROUGH WORK




36.

19

A FEETE oM ol oTg ?

(a) UWdE 9 SHIee IS GRS B,

(b) A wIfaEn! A} S ToAr vaTr= Temen hedl.
(¢) YRG W= Aftd= 3 ey B8,

(d) QTR FidhrEs ®E Hd B[
ﬂ'ﬂ'ﬁfta?ﬁ:

C (1) vamel Fwr gut (2) T TG

(3) WA TH (4) wer fag won
Who is described in the following sentences ?

(a) Ramchandra and Barkatullah were his assistants.

(b) He founded a new party in San Francisco.

(c) He was a founder of Indian Independence Committee.

(d) He was doing revolutioﬂary work abroad.

Answer Options :

(1) Shyamji Krishna Varma (2) Lala Hardayal

(8) Taraknath Das (4) Sardar Singh Rana

D15

37.

HICFGAT ST e sae @relter gmTies Reve sifows Toe ARe

(a) T (b) W

() s (@ =
o= 3=

(1) (a) 3o (c) (2)  (c) 3nfor (d)
(3) (a), (b) 3mfor (@) ‘ @ 3w

The following social films of Kolhapur’s Prabhat Film Company are very popular :

(a) Kunku (b) Manoos

{(¢) Amarjyoti {d) Shejari
Answer Options : '

(1) (a)and (c) o (2) (¢ and (d)
(3) (a), (b) and (d) (4) All of the above

Foed] HHMAISE ST / SPACE FOR ROUGH WORK
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38. fadw = fem Soft weet v I AR 7

(a) fodtn S sfear Soften sl Sas=aiem gpdis fafy wrezsh 2.

(by Fordrw $ 3fear S srE=a wEsE Woated R

(¢) YA FHIe™ 9 YO G, _

(d) e iR W fashea St T a1 Saen.

Tt I

(1) (a)3nfr (b) & 3

(2) (b) it (d) &7 g

(3) (b) TR (c) W ET

(4) & (b) T TR

What is true about the British East India Company ?

(a) The British East India Company was more concerned about the health of the
Indian farmers.

(b) The British East India Company encouraged the planting of poppy plants.
(c¢) The Company built canals and dams.

(d) The Company officials shared profits with the liquor shopkeepers.
Answer Optibﬁs :

(1) (a) and (b) are true

(2) (b) and (d) are true

(3) (b) and (c) are true

(4) (B) alone is true

39. TE SRS UF W AR B, I TN :
(1 IEE (2) odug

(3) &R (4) TIeUEl
Lahuji Vastad had a special weapon, it was called

(1) Waghnakh o " (2) Chhadipatta
(3) Gudguda (4) Dandpatta

FOEIT STHATST TR / SPACE FOR ROUGH WORK
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40.  wriarH fage 2 71 AR T ieEe .
(1) U HIeEH (2) W TOH
(3) WM FH (4) =TT e
Bhargavram Vitthal is popularly known as .
(1) Mama Kolhatkar (2) Mama Saraf
(3) Mama Warerkar {(4) Mama Bhosle
41. 3. 9ed= ATHI TSZAEH EUA Sl gral.
(1 = (2) ‘="
3) Az (4) ‘“Trasia quaas
S.M. Paranjape’s ' became mouthpiece of the aggressive nationalist
sentiments. ‘
(1) ‘Kal’ (2) ‘Swarajya’
(3) ‘Navakal’ (4) ‘Shivajiche Punyavachan’
42, IS A% S Fol g R Srermt g Sure Tedd wef ?
(1) waE (2) W (3) TETEm (4) <rEs
With whose help did Jyotirao Phule establish Victoria Balashram at Dhanakavadi ?
(1) Govande (2) Paranjape (3) Shivappa (4) Lokhande
43. A fFgmi Hord fTue stw) sed ?

(a) T M Roe w@usa Geesiar 151 35 9@ T Mt &l 8.
(b) WRAM 1860 =41 EAE 10-2 Tl T 3g=h Faia el B
gt I . '

(1) e (a) TFT 3R (2) Fad (b) TG 3R

(3) ()9 (b) T T MR (4) (a)3 (b) Q= a1

. Which of the following statement/s is/are correct ?

(a) Mahatma Gandhi collected one crore thirty five lakhs rupees for Tilak
Swarajya Fund.

(b) India exported 102 crores rupees worth of opium in the beginning of the

year 1860.
Answer options:
(1) Only(a)is correct (2) Only (b) is correct
(3) Both (a) and (b) are correct (4) Both (a) and (b) are not correct

Feeg] HWTAIS AN / SPACE FOR ROUGH WORK ' P.T.O.
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44, JMFN TAEE T d Y GUSS I AT TSI JSAT A4
TS D
(a) HTEEl (i) sugA
(b) W= () & foree, wifeem
(c) oIt - (i) oNfar (endm)
(d) &SR (iv) WIREaIdTe SsImat
gaift I .
(a) (b) (c) (d)
(1) @Gd (iii) (iv) (i)
(2) @) (iv) (iii) (i1)
3 @ (ii) (ii1) (iv)
4) (v (iii) (i) (ii)
Match the Ashokan inscriptions and the places they are found in.
. Inscription Place
(a) Kalsi (i) Dehradun
(b) Mansera (ii) Hajara district, Pakistan
(c) Dhauli (iii) Orissa (Odisha)
(d) Shahbajgadhi (iv) Peshawar in Pakistan
Answer options :
@) (b) (c) (d)
(1) (i) (iii) (iv) (i)
2) @ (iv) (iii) (ii)
(3 @ (i1) (iit) (iv)
4y Gv) {(iii) 1) (i)
45. IV HITA TATSAT WA gid A9 s ormaedt ufgeh $aedt Tamaq et ?
(1) IF= (2) “mErR (3) TR (4) ETSER
The first English factory was established at Surat with permission of which Mughal
King ?
(1) Akbar (2) Jahangir (3) Humayun (4) Shah Jahan
46,  WITHE O gRIET S HIOT BT ?
(1) o e (2) e s
(3) Tewhi (4) =Y AeHTH
Who was known as the Father of newspapers in India ?
(1) Warren Hastings (2) Mrs. Hastings
(3) Hicky (4) Charles Metcalfe

FHoelT HTHTSI STRIT / SPACE FOR ROUGH WORK
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47. ¥uehqE fimo @ o T T B SR T gEieith S 8 2
(1) faeam faased (2) foeam ¥+
(3) fFeamaEed I (4) vEfERRA

Who from the following was of the opinion that education in English was a political
necessity ?

(1). William Wilberforce (2) William Bentinck
(3) William Charles I1 (4) Elphinstone

48. - IV AR GRS, g%mmmgﬁmﬁmmﬁmmmmmm

4§ 318 TETe B 7
(D e | (2) W U= HEgHG TH
3) Tl qEm arEng ' (4) TH IFegd THR @H

Which Muslim social reformer told the Muslims that they could achieve progress by
studying modern education and science ?

(1) Ismail Haji (2) Sir Syed Ahmed Khan
(3) Mirza Ghulam Ahmad (4) Khan Abdul Ghaffar Khan

49. AT THOTT AHA ResHit o a9 Jaeh B 2

(1) el @ g TR

(3) TIRW AERIH (4) HWR AERET
Whom did Lokmanya Tilak support in the Vedokta episode ?

(1) Vatandars ’ (2) Shahu Mahargj
(3) Rajaram Maharaj (4) Sambhaji Maharaj

50. ’mwmm@mqmgmmw?
(1) TRIgs g (2) e el TR @@
(3 "SI (4 ¥ewHRm

Who had refused to give the concession of exemption from payment of custom duty,
to the British East India Company ? -

(1) Prince Shuja (2) Murshid Quli Jafar Khan
(3) Mir Jafar _ (4) Mir Kasim

FeeqT IS S / SPACE FOR ROUGH WORK P.T.O.
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TATIH 0 Teh WRAE TS Gi=I1 TTHE HRUME 3 ?
(a) 1857 =T ISEET YO, -

(b) T ST THA e shidl.

(c) YR gaoA= SH.

(d) AU FYEAET = E.

qqrdt I :

1) (a), (b), (c) 371fr (d) Frra IRa

(2) % (a), (b) 207 (d) T TR

(3) % (b), (¢) 21 (d) A ada

(4) %= (a), (b) AfO7 (c) IT IR

Which factors contributed towards the establishment of the Indian National
Congress ?

(a) The impact of the uprising of 1857,

(b) Revolution in the means of transport.

(¢) The contribution of the Indian newspapers.
(d) Pressure from the International community.
Answer Options :

(1) (a), (b), (¢} and (d) are correct

(2) Only (a), (b) and (d) are correct

(8) Only (b), (¢) and (d) are correct

(4) Only (a), (b) and (c) are correct

52.

1857 =41 331aTA HEIAT Hea M= Yeia saehl Q! fasits =aeht efied.
(1) ¥R AT

(2) < |EIY

(3) hg=m

(4) R MR

Pick out the odd one from the following persons who had assisted the British during
the Revolt of 1857.

(1) Salar Jung

(2) Jung Bahadur

(3) Begum of Oudh

(4} Dost Mohammad

FEET HHETETS! ST / SPACE FOR ROUGH WORK
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53. wgEdi? T ATcH=RA TR,

(1)

(2)

(3
(4)

TGS SISH
HIETE T
foamrrE Fegest
=S g

Bahuroopi 1s the autobiography of

(1
(2)
(3)

4)

Ganpatrao Bodas
Keshavrao Date
Chintamanrao Kolhatkar
Bapurao Pendharkar

D15

. 54. mewﬁmm,mmﬁﬁﬁmgﬁaﬂﬁﬁﬁw@m?

(1)
(3)

FEHE HGHg
FETE e

(2 YIBER Ml
(4) T FO G

Who from the following had asked Gandhiji to remain neutral for one year after his
return from Africa ? '

(1)
(3)

Acharya Shraddhanand

Karamchand Gandhi

(2} Putlabai Gandhi

(4) Gopél Krishna Gokhale

55. 9@ g€ SV Ea ?

1) .

(2)
(3)
(4)

¥ e et 2.
? Qe wfed da.
q Yo" W™ E.
1 farem= W@ ..

Who was Sheikh Dullah ?

(1}
(2)
(3)
(4)

He was the officer of the Nizam.
He was the officer of the Mughals.
He was the chief of the Pendharis.
He was the chief of the Weavers.

ToEqT BTTETA! ST / SPACE FOR ROUGH WORK
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et STRITd VI O el 3T 2

(a) <IN TEIA wh gATe" A IREEw T 99,

(b) I A I @R = i Hed el dgm W et S,
(¢) =1 Jgiel = s fradfiem i,

(d) 19209} & "hg FrTh Far (ICS) wharn I<fivf e,

qaidt I ; :

(1) 3R & '

(2) gIN dg 9|

(3) onfag oy

(4) faoGH Twm

Who is described in the following sentences ?

(a) His father was a wealthy and prominent lawyer.

(b) His father sent him to Scottish Church College from where he graduated.
{¢) His father sent him to Cambridge University.

{(d) In 1920, he passed the Indian Civil Service (ICS) examination.

Answer Options:

(1) Dadabhai Naoroji

(2) Subhash Chandra Bose

(3) Aurobindo Ghosh

(4) Chittaranjan Das

57.

At SRR YA M9 = B ?
(1) wefrd
(2) it

(3) gavitrd
(4) PR

What was the ancient name of the Ajintha Mountain ?
(1) Mandagiri

(2) Achinta

(3) Suvarnagz;ri ,

(4) Girnar

FET HIHTHIS! AR / SPACE FOR ROUGH WORK
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58. TP 9 WA IrAT S oAl
e wa
(a) Haur (i) HHEeE
(b) TEATEIg (ii) TSI
(¢c) WHES (iii) HewTETE
(d) RO (iv) QT
Tgidy I ; .
(a) (b) (c) (d)
1y G (iii) (i) (iv)
(2) (b (iv) i) (ii)
3y Gv) (iii) (ii) (i)
4) @) (ii) (iii) (iv)
Match the following Places with the Saints :
Place Saint
(a) Paithan (i) Sopandeo
(b} Edalabad (ii)) Eknath
(c) Saswad (iii) Muktabai
(d) Aarangaon (iv) Savtamali
Answer options :
(a) (b) (c) (d)
(1) Gi) (iii) (i) (iv)
(2) (Gid (iv) (i) (i1)
3) (v Gid (ii) (i)
(4) W (ii) (iii) @iv)
59. G Aeh WESE! WA vl et ?
(1) WA HERS TOITHTRS Yeadd (2) &Y TR
(3) TS THER GITSTRT (4) Towgm oma a9
Who established the Sanglikar Natak Mandali ?
(1) Maharaja of Sangli Appasaheb Patwardhan (2) Deenanath Mangeshkar
(3) Krishnaji Prabhakar Khadilkar (4) Vishnudas Amrit Bhave
60. B @ HEWURR Y I G UHATHEES Hoft FEed e ?

(1) <A T (2) forsugan sweTh

(3) —wdl v, T (4) TN, AEHH

He is the real ‘Nath of Maharashtra’. Who said this about Sant Eknath ?
(1) Lokmanya Tilak (2) Vishnubuva Brahmachari
(3) Justice M.G. Ranade (4) R.G. Bhandarkar

FTTT FTUTHIST AT / SPACE FOR ROUGH WORK
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6l. faumA: 9N, 1942 Usfi SR T HIeS ddl.
FRU B : TR 9 fa @ SUH FAhEa §g1 & W gl

gaidt 3w ;

(1) A <R 318, B g 3. (2) A afoT B SR 1184,

(3) A o7fr B gohre a1ga. (4) A THN 3R, B 0N AR,
Assertion A : Japan captured Rangoon on 9" March, 1942.

Reason B:  Japan could attack Calcutta after its victory in Rangoon. -
(1) Aistrue, Bis false. (2) A and B are true.

(3) A and B are false. (4) A is false, B is true.

62. 8 ¥sETd, 1843 Ushi YTl wivrean sAchi-l A il T T=19T hefl Bt 2
(a) TG HIgUT TEEH
(b) gium wemTay Agd
(c) TrhigaaTd T8, JvE
(d) =i IS erf wrE
g I ;
(1) wed (a) I (b) T M8
(2) & (b) MM () TR TR
(8) A (c) I (d) SR AT
(4) w4 e A

Who from the following persons established the Manav Dharma Sabha on
gth February, 1843 ?

(a) Dadoba Pandurang Tarkhadkar
(b) Durgaram Machharam Mehta
{c) Lokhitwadi G.H. Deshmukh

(d) Dr. Bhau Daji Lad

Answer Options :

(1) Only (a) and (b) are correct

(2) Only (b} and (c) are correct

(3) Only {(c) and (d) are correct

(4) All are correct

Foe] FHRIS! ST / SPACE FOR ROUGH WORK
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63. weletd v s fgrevi'sh g Toacar ?
(a) @ fEwrg
(b) 9. ¥ TET Hefed
(¢) S ga
(d) @ g TEE
ot I :
(1) e (a) 3N (b) TR A1RA (2) ®Ed (b) N () TR AR
(3) ®H (a), (b) M () TR 17RA (4) A (a) M (d) TR e
Who from the following persons were not aésociated with Hindu Mahasabha ?

{(a) Swami Vivekanand
(b) Pandit Madan Mohan Malviya

" (¢) Dr. Munje
(d) Swami Dayanand Saraswati -
Answer Options :
(1) Only (a) and (b) are correct (2) Only (b) and {(¢) are correct
(3) Only (a), (b) and (c) are correct (4) Only (a) and (d) are correct

64. a@raﬁaum%m%ﬁaﬁvﬁ@lﬁ‘?

) Tiqram fewmen Tamfda wEw, @ 99 o
(b) Tt qemmfididter sfyen & et Gerdier TegET AR T SneRl ST

TR,
(c) WWEERE T figermen | fe® e 8.
qgthl G?ﬁ :
(1) %ad (a) 30 (c) (2) wad (a) AN (b)
(3) Haa (b) 3 (c) (4) (a), (b) A (c)

What were the important points in the Quit India Resolution ?
(a) Toremain in the slavery of the British is a sin for India.

(b) India’s freedom will inspire the countries in the continents of Asia and Africa
that are staying under the slavery of the British.

(¢) Indian freedom was necessary to prevent imperialism.

Answer Options:
(1) Only (a)and (¢) _ (2) Only(a)and (b)
(3) Only (b) and (¢) (4) (a), (b)and (c)

FEEq] HTATATS! ST / SPACE FOR ROUGH WORK P.T.O.
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65.

30

| 918 TR WA Fibes w1 mslt wmer g ?

(1) Fr=rERe o3

(2) WHTE |

(3) TMHWE AR

(4) oTHATE qeaH

Who was the Finance Minister in Bal Gangadhar Kher’s ministry ?
(1) Annasaheb Latthe

(2) Shankarrao Deo

(3) Gangadharrao Deshpande

(4) Achyutrao Patwardhan

66.

O} AT TGEr i et ? ,

(a) afrq aiETdt Wi FELHes FIE T e ST
(b) TRI aeTd S FRRASSE FIE ST wgd SaTem.
(c) T TGS wee .

oY I

(1) (a), (b) 3T (c)

(2) & (a) I (b)

(3) W& (b) AT (c)

(4) & (a) 2710 ()

What were the provisions of the Poona Pact ?

(a) To keep certain reserved seats for the depressed classes in State legislature.

(b) To reserve certain seats for the depressed classes in the Central legislature.

(¢) 'These provisions were not to be changed.
Answer Options :

(1) (a), (b)and (¢}

(2) Only (a)and (b)

 (3) Only (b) and (c)

(4) Only (a)and (¢)

FHoed] PIHETS ST / SPACE FOR ROUGH WORK
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67. 1924 Hell GO g AR midfish, . TeeidreTErl, TN YA I S den et

HIVET HHE 9 39t B ?

(a) BOSHMNET IR *E (b) TS g ga e
(¢) T Igr = (d) TSRO ITHATT HFT 9o
ot I ;

(1) = (a) 710 (d) (2) W (a) AT (b)

(3) W& (b) 2111 (¢) (4) ®F (c) Nfor (d)

After their release from jail in 1924, Gandhiji, C. Rajagopalachari, Rajendra Prasad
kept themselves busy with which of the following activities ?

(a) Upliftment of Harijans (b) Hand-spinning on Charkha

(¢) Upliftment of women (d) Participate in political activities
Answer Options :

(1) Only({a) and (d) (2) Only (a) and (b)

(3) Only (b) and (c) (4) Only (c)and (d)

68. YT AT FIVIE FU het MR ?
(a) AT A, 1940 T FeF FOAQ AT
(b) o FeMd YF TSR .
(¢) w5 fedat, 1940 Ush Higvamd e,
(d) 1943 7Ed T A& AT @RS 4.

gl I
(1) R g=EE (2) fouiem @
(3) g9 93 99 (4) IT=gaUE qeEHd

Who is described in the following sentences ?

{a) He was arrested in July, 1940.

{b) He went on hunger strike in prison.

(¢) He was released on 5 Decémber, 1940.

(d) In 1943, his attention was turned to the Far East.

Answer Options:

(1) Veer Savarkar (2) Chittaranjan Das

(3) Subhash Chandra Bose (4) Achyutrao Patwardhan

O] PHNTS! SIRN | SPACE FOR ROUGH WORK P.T.O.
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69. T Ad 9 3 IYF BN T TSI AT AT -

EG 25 )
(a) wISaRE €R G g
(b) WISE TR (i) &P
() wBERY AR (iii) R
(d) @=E JdeHt (iv) AwEE
it 39 :

(a) (b) (©) (d)
(1 @) (ii) (iii) (iv)
(2) (i) (iii) (iv) (i)
(3) (iii) i) (ii) (iv)

4) (iv) (iii) (i) )

Match the following Leaders and the Places from where they came from :

Leaders Places
(a) Bhausaheb Hire (i} Mumbai
(b) Bhaurao Patil (ii) Pandharpur
(¢) Balasaheb More (iil) Satara

(d) Khanderao Daundkar (iv) Malegaon

Answer options :

(a) (b) (e) (d)
(1) @) (ii) (iif) (iv)
(2) (i) (iii) (iv) ()
(3) (iii) () (ii) (iv)

4) v) (i11) (ii) (i)

70. 3.4 1940nﬁﬁmmmaﬂwmww—qﬁmw ?

(1) . . ArE@eEt (2) A I

(3) R faw Mes @) ferEwmE fg

Under whose Presidency was the Sanyukta Maharashtra Sabha established in
1940 7?

(1) G.T. Madkholkar {2) Ramrao Deshmukh

(3) Shivram Vishnu Modak (4) Digambarrao Bindu

oSN BHNTS ST / SPACE FOR ROUGH WORK
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71,  Erefe Ry wiv faum st o ?
(@) 20 S 1942 st AR AN I Foam areten afgen sfas wwdi gfera wfgen
Ree=A T gereTETE SR AT BT
(b) Hoern Segardter Tahy A} gy ufgen dfwg 28 W 1934 9= frdE W A=
sremgaaTel! wfavara anelt it
gaidt 3w
(1) %9 () TV AR (2) % (b) SR 1R
(3) (a) N (b) TN 3772 (4)  (2) AT (b) TS e
Which of the following statements is correct ?
(a) Sulochanabai Dongare presided over the first all India Dalit Women's
Conference held at Nagpur on 20 July 1942,
(b) Mrs. Rege presided over the Untouchable Women’s Conference held at
Malkapur, District Buldhana on 28 March 1934.
Answer Options :
(1) Only(a)is right (2) Only (b) is right
(3) (a)and (b) are right (4) Neither (a) nor (b) are right
72. TI. STEHEIRT ESHU HIOAT FIRIV IFFIAT AGd TTEIAS g6 ol ?
(1) AN A9 (2) AT Aol
(3) TR WEEEg (4) I FiHUH
Who was the Brahmin follower of Dr. Babasaheb Ambedkar with whose support he
carried out bonfire of Manu Smruti ?
(1) Jayesh Apte (2) Yogesh Kulkarni
(3) Gangadhar Sahsrabuddhe (4) Pradeep Kokankar
73. RIS I BT hiT TUH FA T8 ?
(@) q T Yomgrl Fues €.
(b) 4 firead €A,

(c) WA TEgATY 2R 9 HEN TFEd W I Feg A=,
(@) ¥Fa & g My 9N = sEr .

g 3| . .
1 wgEa& ) (2) TR THA
(3) <M. HwTaT (4) f&iqm

Who is described in the following sentences ?

(a) He was an inspiring organizer.

(b) He was a soft spoken person.

(c) He was fond of the poetry of Rabindranath Tagore and Kazi Nazrul Islam.
(d) Anant Singh and Ganesh Ghosh were his followers.

Answer Options :
(1) Surya Sen (2) Lokenath Baul
(3) J.M. Sengupta (4) C.R.Das
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74. ‘fradd w9 71 ISEIENT Fivied SEUE IO AT 2
(1) 1861 =1 33 Fif~rer o
(2) 1858 a1 fegrumaTerE] $EaT
(3) 1892 31 Hif-Her Fae 31fe sfean
(4) 1909 =1 YR S _
The phrase ‘Kimberly Clause’ was used in which of the following Acts ?
(1) Indian Council Act of 1861
(2) Indian Act of 1858
(3) Indian Council Act of 1892
(4) Reforms Act of 1909
75. 1979 - 80 el feguaAm =1 |garft .
(1) wFwmieaE (2) wifegua wmm
(8) b 4) w4
In 1979 — 80, Vietnam was an ally of .
(1) Afghanistan (2) Soviet Russia
(3) America (4) France
76. TN Hiwear segvaie wien iy s afids fedta S 8 2
(1) wrf a1g (2) TG ATHA
(3) HTHUH WBIS (4) Ty R
Who was the Secretary of the National Congress Committee for opposing the
practice of untouchability ?
(1) Swami Anand (2) Vasudevrao Aakut
(3) Aatmaram Ranchhod (4) Raghunath Hari Gadre
77. ERiEOS S U GRS Eyar qafdarg e T et ?
(1) wedf +a (2) .. T
(8) wgE $t , @) fau &R

Who from the following social reformers founded the “Widow Remarriage
Association’ ?

(1) Maharshi Karve (2) M.G. Ranade

(3) Mahatma Phule (4) V.R. Shinde

o] PIHIAIE! STFIT / SPACE FOR ROUGH WORK




T8.

s
SHifehEh T ST §IVT TSATEd o $I
(a) 1910 =1 ¥ 3\ FFe

(b) 1911 =1 TKIE WHT FHET

(c) 1913 =1 Rl FE (gEh)

it I

(1) & (a) AT (c)

(2) % (a) 1M (b)

(8) %= (b) 3 (c)

4) (a), (b) 301 (c)

Laws enacted to thwart the freedom struggle of the revolutionaries :

(a) The Indian Press Act of 1910
(b) The Seditious Meetings Act of 1911
(¢) The Criminal Law (Amendment) Act of 1913

'Answer Options :

(1) . Only (a) and (c)
(2) Only (a) and (b)
{(3) Only(b)and (c)
(4) (a),(b) and {(c)

D15

79.

1888 Weht W HoAg SEWRHT I e,

(1) v 3 € |

@) i defires aheg

(3) wignTsH fE%-a shfeem e oToat i

(4) WrerHed sheh-fRued wies

In 1888, Sir Sayyad Ahmad founded the

(1) Indian Patriotic Association

(2) Muslim Educational Conference

(3) Mohammedan Defence Association of Upper India
(4) Mohammedan Anglo-Oriental College

FoEgT FHWS! SR / SPACE FOR ROUGH WORK

P.T.O.
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80,

36 A

1942 = fspew fire Fema Fioren wgdt gen ?

(a) WEEg duare weT witd fafifdt swoam 3da,

(b) e Effta St SR SRR ey v,

(¢c) WEgg el ST WHAT=AT TRPUITE! SaEgH! FesH! .

it IW :

(1) % (a) 30 (b)

(2) & (a) A7 (c)

(3) e (b) 3T (c)

(4) (a), (b) 37 (c)

What were the provisions of the Cripps ‘Mission Plan of 1942 ?

(a) Constituent Assembly will be formed after the end of world war.

(b) Princely States can send their representatives to the Constituent Assembly.
(¢) England will be responsible for India’s defence as long as world war continues.
Answer Options:

(1) Only (a) and (b)

(2) Only(a) and (c)

(3) Only (b) and (c)

(4) (a), (b) and (c)

81.

qusdict Mpaam T Iewesd Hinas ufeel Ufaeies afaym wa g Ayg 79ne 9 Fe
Torqren wivlt Fa g ?

(1) Tigews 9g 9 TN

(2) dRUS BE d TM

(3) wHTS AW SYh 9 W

(4) HamHrS Sl 9 3@

Who carried the torch and flag from Gokuldas Tejpal Pathshala in Mumbai, where
the first historical session of the Congress had taken place, to Faizpur ?

(1) Gokulbhai Bhatt and others

(2) Lodhubhau Phegde and others

(3) Dhanaji Nana Chaudhary and others

(4) Sitarambhau Chaudhary and others

FHeEdT FHTATS! SIFT / SPACE FOR ROUGH WORK



A 37 D15

82, oftrg T Tat fira uftg 1989 @ a7 fseroft et
(1) feesit (wm@) ' |
(2) ww (ferama)
(3) g (Fiveentesan)
(4) et (W)

The ninth Non-Aligned Nations’ Summit was held in 1989 in
(1) Delhi (India)

(2) Harare (Zimbabwe)

(3) Belgrade (Yugoslavia)

(4) Jakarta (Indonesia)

83.  Frf I fig frvafrerearear wen woraw SEILEA TR B
(1) e 7l (2) <E FFA
(3) i i (4) e Irawd
Viceroy was present at the establishment ceremony of the Hindu

University at Kashi.
(1) Lord Hardinge (2) Lord Curzon
(3) Lord Minto (4) Lord Chelmsford

84. it S, 1930 7o ‘Fegrrt fas o T
(1) 1.4 g8
(2)  srafaesmETs TrREw
(3) eIl §EG
(4) ®& HEd
founded ‘Hindustani Sevika Dal’ in June, 1930.
(1) N.S. Hardikar
(2) Avantikabai Gokhale
(3) Kalyan Syed
(4) Hansa Mehta

ol BTG ST / SPACE FOR ROUGH WORK P.T.O.
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85. 1956 W&l Wrefteehl Sivear iR W Tsar=a i qere I TSl HEE St
o B ?
1) wEws, e, ToHE
(2) WHEWTS, Hilesh, AT
(3) FB, Frlch, HEAE
(4) RN, TSR, YN
In 1956, the Mahajan Commission was appointed to sort out the boundary disputes
between which of the following three States ?
(1) Maharashtra, Karnataka, Gujarat
(2) Maharashtra, Kamataka, Andhra Pradesh
(3) Kerala, Karnataka, Maharashtra
(4) Maharashtra, Gujarat, Andhra Pradesh

86. WW%HWQWWWM?
(1) wsER weviE

(2) fawpemsh favaeet
(3) oA Riguw AT

4) FeRm weRd ey

Under whose leadership did Tilak and Agarkar start New English School ?
(1) Morobadada Phadnis

(2) Vishnushastri Chiplunkar

(3) Vaman Shivram Apte

(4) Shivram Mahadev Paranjape

87. U oMifer sETer=AT BreviteaT It Tim ST SeRE S 8 ?

(1) Wi s (2) A= AT

(3) Y WHsHReS (4) WSS

Who was the Chairman of the Boundary Commission for the partition of Punjab and
Bengal ?

(1) Sir Cyril Radcliffe (2) A.V. Alexander

(3) Ramsay MacDonald (4) Mountbatten

FoelT HIETHTS! ST / SPACE FOR ROUGH WORK
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feem v fir IS w6 e aEd! ?
(a) ﬁﬁg@ﬂwﬁmqﬁﬁ
(b) T@dA weT A= ATl qof Feft .
(c) AcaERegH=Al fRdr=n Seat Togar.
(d) EdF W= IeorE Aogdl.

it 3w

(1) fam (a), (b) 21fn (c) dm smmRa
2 faum ), (¢) 3fr (@) I ke
@) T (a), (o) TR () A s
(4) Tm (a), (b) anfr (d) T a1da

Why did the Muslim League reject the Cripps Plan ?

(a) There was no promise of an independent Muslim Nation.

(b) The demand for Independent Constituent Assembly was not fulfilled.
(c) There was no mention of the interests of the minorities.

(d) Independent Pakistan was not mentioned.

Answer Options :

(1) Statements (a), (b) and (c) are correct
(2) Statements (b), (c) and (d) are correct
(3) Statements (a), (c¢) and (d) are correct ’

(4) Statements (a), (b) and (d) are correct

FHEeT TRIRITS! SR / SPACE FOR ROUGH WORK ' - P.T.O.
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89. =N ool :

(a) Toroo] fager ot () g famdt

(b) R WIETHg WAL (i) B qiem

(c) YruIaw FHorH (i) WRgrEETH

(d) TR S (V) oI TgeeE g

gt I

(a) (b) {c) d .

(1 Gv) (iii) (ii) (i)

(2) @ (ii) (iii) (iv}

(3) @G (iv) (i) (ii)

4) GGv) (ii) (iii) (i)

Match the following :

{a} Vishnu Vitthal Oak (i) Hindu Missionary

(b) Sir Bhalchandra Bhatavdekar (ii) Holika Sammelan

(¢) Purushottam Kanekar (iii} Shardashramvasi

(d) Gajananrao Vaidya (iv) Dadar Students Union

Answer options:

(D
(2)
(3
)

(a) (b)
(iv) (iii)
(i (i)
(iii) (iv)'
(iv) (ii)

{c)
(i) -
(iii)
(i

(iii)

(d)
(i)
(iv)

. (ii)

ey

FoEAT BITATE! STR / SPACE FOR ROUGH WORK
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1935 ST T T BRI I T FEW JI0AE AR T D GG HH R .
(a) YIRG GTHICEN SANOM WifEed W o
(b) wis weffe Wt foreneatear aRflee @ e
(¢) YR YR ATYHEAT HRIE G a0
(d) WA GRS GEROT 0

gt I

(1) Fram (a), (b) 301 () I o
(2) faur (a) onfir (b) 3 aa
(3) faum (a) aufdr () 9 amda
(4) Fam (a) Al (d) dE s

The post of High Commissioner was retained by the 1935 Act and his main duties
were to

(a) Procure materials required by the Government of India
(b) Look after the needs of Indian students in England
(¢) Monitor the work of the Commissioner of Trade in India

(d) Carry out social reforms in India

Answer Options :

(1) Statements (a), (b) and {¢) are correct
(2) Statements (a) and (b) are correct

(3) Statements (a) and (¢) are correct

(4) Statements (a) and (d) are correct

Foeq] HIRIS! SR / SPACE FOR ROUGH WORK P.T.O.
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91. quradiq IgU NEHS a1 fRT=er g,
(1 =m
(2) <mHI!
(3) =mmA

(4) =i BEER

Wave-cut platforms occur on coast in Maharashtra,
(1) Aadhe

(2) Bamnoli

(3) Nagaon

(4) Hari Hareshwar

92. WCldIh! HIT TISOT ITET TR ?
(a) Tt alE
(b) HisT BT
(¢) Yferera aTET
(d) wom FER
gt I
(1) % (a)
(2) % (b)
(3). (a) 3T (c) et
(4) (b amfer (@) 3t
Which of the following is the example of Lagoon ?
(a) Chilka lake
(b) Sambar lake
(¢) Pulicat lake
(d) Lonar lake
Answer Options :
(1) Only(a)
(2) Only(b)
(3) Both (a)and (c)
(4) Both (b) and (d)

FTedT FTHTATSE STRT / SPACE FOR ROUGH WORK
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93, IS @ET :
AR AR fored
(a) B G T
(b) wIfEH (i) OTeER
(c) THe (iii) gt
(@ faemgi , (iv) TEOR
it I
(a) (b) (c) (d)
(1) G i) (iv) (1i1)
2 W (i1) (iii)y  (iv)
3 G (iv) @) (111)
(4) (iii) (ii) (i) (iv)
Match the following :
Fishing port District
(@ Dahanu (i) Mumbai
(b) Mahim . (ii) Palghar
(¢) Dabhol (iii) Sindhudurg
(d) ~ Vijaydurg (iv) Ratnagiri
Answer Options :
(a) (b) (c) (d)
(1) @b @) (iv) (iii)
2) W (ii) (1ii) (iv)
3) (i (iv) 63 (ii1)
4) Gi) G W (iv)
94, HENUNM W @z 9 TR Ydd A UM Jat-gftr 8 qo@iesn fpamaedi=an weumen
¥ EudE.
(a) HRER I A (b) HUSA (¢) HiH0
it I H
(1) % (c) T AR (2) % (a) SR MR
(3) & (a) FAM (¢) ST TR (4) (a), (b) AT () S HATEq

In Maharashtra, the coastal region extending from North to South between Arabian
Sea and Sahyadri Mountain is known as

(a) Karwar and Malabar (b) Coromandel (c) Konkan

Answer Options :
(1) Only (c) is correct (2) Only (a) is correct
(3) Only (a) and (c¢) are correct (4) (a), (b) and (c} are correct

AT FITS! AN / SPACE FOR ROUGH WORK ' P.T.O.
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95. ‘seciwvgmysuE A @\,
(1) SaTempE Reser (2 Tz (s€) o2
(3) WM B (4) Tl Hio & T
“Rift valley” is a major landform resulting from
(1) Volcanic eruption {2) Folding
(3) Faulting activity , (4) None of the above

96. mmwaﬁmmmﬁé?

(1) W EE (2) wOee (3) I9 (4) fine

Which of the following is an extrusive igneous rock ?
(1) Granite (2) Basalt (3) Shale - (4) Schist

97. el wuwdh gaar fopdt dm/ams amR 2
(1) 556 (2) 45 @ 35 4) 28
What is the average density of the Earth in gm/cm3 ?
(1) 55 (2) 45 (3 385 4) 28

98. gudiwie @2 9 meRmR ffifdifaeh yEeas fRiga ol aigen 2

(1) =ty stia (2) = R

(3) 3THT I (4) ¥HS AN

Who put forward the continental drift theory of origin of continents and oceans on
the Earth surface ?

(1) Charles Darwin (2) Karl Ritter

(3) Alfred Wegener (4) Alfred Weber

99. wTETH wdarie data 39 NG ‘FgaE & FERge Siven feand R ?

(1) o (2) W

(3) i . (4) EEETR

The highest peak in the Sahyadri Mountain Kalsubai’ is located in which district of
Maharashtra ?

(1) Thane (2) Nandurbar

(8) Nashik (4) Ahmednagar

oyl SIS 9PN / SPACE FOR ROUGH WORK
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100. WERTHIS v e Iewmmane Fafn s dvm g stesd ?

(1) 3R (2) g (3) ouad (4) HieE

The Lonar lake created by a meteorite collision appears in which district of
Maharashtra ?

(1) Akola (2) Buldhana (3) Amravati (4) Nanded

101. Y= A SCA HEHUATETdl QT o] I} i IRk RO 3t ?
, (1) 3| 2 & (3) W9 (4) femd
Which of the following endogenic force causes changes in the Earth’s crust ?

(1) Wind (2} River (3) Earthquake (4) Glaciers

102. R AR T $ENS Tefaad! wivrea sgedrt S B 2
(1) =l TE (2) = (3) geufl (4) TOAH =&

Which of the following landforms is formed due to erosional work of ocean waves ?

(1) Sea Caves (2) Berms (3) Beaches {(4) All of the above

103. " Gramsfe eea @ foee we S 9l sga gsad Sfaaer @nl - wed @

Faraeh .
(1) zEHaE (2) SREAEAEg
(3) gETam (4) Tieth ud
Since man is active, he knows the secrets of nature and changes the environment to
find a way of life, this is concept.
(1} Possibilism (2) Determinism
(3) Stop and Go (4) All of the above

104. ‘“virpaEd gwavr fugia Sivft wiger ?

(1) . 9uad (2) amd FH

(3) UF. o, Aew=TEA (4) 3 W9

Who put forward the theory of ‘Demographic Transition’ ?

(1) Miss Semple (2) Thomas John
(3) F.W. Notestein (4) D. Stamp

U] HETHIC SR / SPACE FOR ROUGH WORK P.T.O.
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105. T P SH hHivT T8 ?
(1) T=9,WH. S5@™ (2) feamfaerta
(3) WfEw ea (4) I
Who is the Father of Human Geography ?
(1) W.M. Davis (2) Demangeon
(3) Friedrich Ratzel (4) J. Brunhes
106. AP GraAueHl ‘whfzg wiay fagia Foft wigan ?
(1) TR ERE (2) {3y T
(3) IowA suftn g (4) TE.TH. ¥W
Who proposed the ‘Cencentric Zone Theory’ of civil structure ?
{1) Homer Hoyt (2) E.W.Burgess
(3) Ullman and Harris (4) H.S. Hayes
107. Gclieh Fv foum/faam wea ome/ened ?
o aoEd ey A Ayl w1 o (Hehed) esd.
(a) Yo for e

(b) U= =T TTTE
(c) & = frema anfr w9 e
(d) gdar=ar qrEeETEh

qgigl 39 ;
(1) s0AFH od (2) (a), (b) 3 (¢)
(3) (a) M0 (b) (4) (b), (c) & (d)

Which of the following statement/ is/are correct ?

In linear settlement pattern, the buildings are constructed along
(a) Railway lines and roads |

(b) Lake-shores

(c) River-banks and sea-shores

(d) Foot of mountains

Answer Options :

(1) All of the above (2) (a),(b)and (c)
(3) (a)and(b) (4) (b),{c)and (d)

Poeg] BHEEIEE TR / SPACE FOR ROUGH WORK
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108. qHTEd / T g fgH i g faTN Sew/arTa SgesaTd.
(1) wEA/Hfa (2) ordwE
(3) whmi/fagreet (4) ey
settlements are found in fertile plains and along water bodies.
(1) Compact/Nucleated (2) Semi-compact
(3) Dispersed (4) Unstable
109. GrEft@h Hivrean arE ofdF o goiae Ferar seesy sraam ?
(1) wmaiE (2) ffa=s 3) gfoa (4) rihr AT
Which of the following human economic activities is totally dependent on nature ?
(1) Primary (2) Secondary (3) Tertiary (4) None of these
110. FavEEE @1 femafe vads o engd ?
(1) ¥dre (2) sam
(3) fuftey =) (4) oo wd
Who is the promoter of the ideology of Neo-determinism ?
(1) Humboldt (2) Blache
(3) Griffith Taylor (4) All of the above
111, i et SHe U v eEd I ?
(1) femfen (2) Temaw
(3) AW WA (4) A3, wehi
Who is known as the father of Economic Geography ?
(1) Chisholm {(2) Robinson
(3) R. Brown (4) R.E. Murphy
112,  “Sauia” 2 Hivr ¥R S0 A9ET I gadia o1 2

(1) ifas sTas™ (2) T sugw

(3) ek Irvem (4) SeEEfE e

Which type of weathering process is related to “Exfoliation” ?

(1) Physical weathering (2) Chemical weathering

(3) Biotic weathering (4) Bio-chemical weathering

Poeg] BTATATE! ST / SPACE FOR ROUGH WORK P.T.O.
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113. Wrediaush! Hivrear feenasd Himmse daHsd ?
(a) FaaHTS, TR 9 TETS
(b) I, werw = fRiggd
(c) IHNER, AL T die
(d) e, U o JIRH
gt 39 ;
(1) e (a) (2) ww (b) (3) W (a) A (c) (4) W (b) 3mfu (d)

In which of the following districts is Chromite found ?
(a) Yavatmal, Ratnagiri and Raigad

(b) Nagpur, Bhandara and Sindhudurg

(c) Osmanabad, Latur and Beed

(d) Akola, Amravati and Washim

Answer Options :

(1) Only (a) (2) Only (b) (3) Only(a)and (¢) (4) Only (b)and(d)
114, G & it TR YgE W TR,

(1) T (2) g (3) A (4) &

Phule Pragati is a main variety of crop in Maharashtra.

(1) Wheat (2) Groundnut (3) Jowar (4) Grapes
115. T I/ wfgr woft

(a) SEIER - A (Fm)

(by wrCft - u&f

(c) THI — Tl

(d) 9= —  IEad

Fa TR /S SE/sien ar.

(1) %34 (a) 3001 (b) (2) wd (b) 201 (c)

(3) e (a), (b) 3 (c) (4) Farh wd

National Park/Sanctuary Protected animal

(a) Abohar — Deer

(b) Mayani - Birds

(¢) Radhanagari — Bison

(d) Pench — Bear

State the correct pair/s given above.

(1) Only(a)and (b) (2) Only (b) and (c)

(3) Only (a), (b) and (¢) (4) All of the above

ToedT BHTATS! SR / SPACE FOR ROUGH WORK
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116. ‘Iger & aagE egemen 97 v fofEa seft smR.
(1) o , (2) &t gus (3) 3M (4) . AT
‘TUCAA'’ Technical Education Institute is developed in city.
(1) Pune (2) New Mumbai (3) Thane (4) Nagpur
117. WENIRE SR ToE 91 a1 foreema ammed.
(1) drTeft F HicaT® (2) 92 9 T
(8) WS A RN (4) AHIST § JIAHS
Major manganese deposits are found in districts of Maharashtra.
(1) Sangli and Kolhapur (2) Dhule and Nashik
(3) Bhandara and Ratnagiri (4) Akola and Yavatmal
118, Tt SR TERTd S 39 g A 2
(1) umH : (2) FEW
(3) WY@sn (4) HEA
Which is not a thermal power plant in Maharashtra ? -
(1) Paras _ (2) Chandrapur
(3) Khaperkheda . (4) Koyna
119. ¥, WER, Fia 91 TERSme AT A 3TEd.
(1 & (2 o=
(3) wddiE (4) G
Nasik, Sardar, Lalit are the varieties of fruits in Maharashtra.
(1) Guava (2) Grapes
(3) Pomegranate (4) Orange
120.

TERTS, TS HI0Te AT el e} HIseTs |IS eesq AT ?

(1) 3Ws @) shar

(3) WeARE ' C(4) =

In which tahsil are coal reserves not found in Maharashtra State ?
(1) Umred - (2) Ausa

(3) - Ballarpur (4 Warora

TN HIITHTS! W / SPACE FOR ROUGH WORK P.T.O.
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121. Grefie foam e
(a) oATfFASH= A SAVEEA R I AT FHal.
(b) g g gedfiadie TeiaiEdl gu SiweEHs IR,
(¢) aTeaeET WadT FiSwie 25 ¥ 30 v Il |
oieft 3w : . -
(1) & (b) fFum s M
(2) fum (a) a7 (b) =R T
(3) faum (b) afr (¢) v o™
(4) faum (a), (b) 2710 (c) == aTRA

Observe the following statements :

(a) Argon gas is made up of three atoms of oxygen.

(b) The degradation of ozone is very dangerous for life on the Earth.
(c) 'The albedo of the desert is 25 to 30 pércent.

Answer Options :

(1} Only statement (b) is correct

(2) Statements (a) and (b) are correct

(3) Statements (b) and (c) are correct

(4) Statements (a), (b) and (c) are correct

122, Wrehiadsh) Some Ricgri=n TRRYe S TS R quRd e g fma e g ?
(1) ek, g2, 3m
(2) WS, TEFHEt, T
(3) view, TR, SR
(4) Fnggt, wfidy, s
Which of the following districts are included in the region of excess rainfail and
brown red soil ?
(1) Gadchiroli, Dhule, Thane
(2) Bhandara, Gadchiroli, Ratnagiri
(3) Bhandara, Gadchiroli, Chandrapur
(4) Sindhudurg, Ratnagiri, Thane

FroeqT BARTS! WIFT / SPACE FOR ROUGH WORK
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123. SAERE a1 el Wieliededh! o e siter snga ?
(a) I eyt 9 T fRierg amar.
(b) I Menald d s feRishgA amgam.
(¢) 9 37gq fenfa amaE.
it I : ’
(1) % (a) A0 (b) S 3T
(2) % (b) I (c) TS 34
(8) Ed (¢) WL I
(4) <0 |4 SO 3nga

Which of the following characteristics of trade winds is/are correct ?
(a) In the Northern hemisphere they blow from South-east.

(b) In the Northern hemisphere they blow from North-east.

(c) They blow with great regularity.

Answer Options :

(1) Only (a) and (b) are correct

(2) Only (b) and (¢) are correct

(3) Only (c)is correct

(4) All of the above are correct

124. STASROTSAT HIveAl SHY NS THIT 9 STaBdl ?

(1) dust (2) aUEdeH?
(3) T (4) SR
In which layer of atmosphere does the ozone layer appear ?
(1) Troposphere (2) Tropopause

(8) Stratosphere (4) TIonosphere

125. 67° gguEt drerhl fisswmEr s [ swar ?

(1) 13 femw (2) 20w

(3) 1wfEm 4) 3uf&

What is the duration of solar energy received at 67° latitude ?
(1) 13 days (2) 20 days

(3) 1month (4) 3 months

FoedT HHTATS! SN / SPACE FOR ROUGH WORK P.T.O..
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126. geHften o SRE S gewrTer & fafem 194mﬂlﬂtaafﬁa%rmmw?

(1) R femdg (2) Il W

(3) YyawIan (4) IdhY ATE

The Earth’s surface receiving 1-94 calories solar energy per sq. cm. per minute is

called '

(1) Solar Constant (2) Heat Balance

(3) Albedo of the Earth (4) None of these
127.  Speh gimrse’ a1 IuwrsT aaEm ey grat.

(1) qI=R (2) TSmr

(3) T (4) TEnsY

The ‘Kennelly Heaviside’ sublayer consists in layer.

(1) Troposphere (2) Stratosphere

(3) Ionosphere {4) Exosphere

128, LK 2021 NEY TSEAMHHE IV TR FFHITER @& e Iaae ?
(1) UT.T=E.HAR. - 602 (2) wl.u". - 725
(3) Uu=. - 225 (4) WU« - 925
In September 2021, on which National Highway in Rajasthan were the ﬁghter

aeroplanes landed ?
(1) N.H.R.-602 (2) N.H.-725
(3) N.H.-225 (4> N.H.-925

129, HAETHRIMY d9HHET=AT faafiads Giefieieh! vl e Aavas A8dal ?

(1) <Ee feamm (2) W &l
(3) s W (4) whedh wd
Which of the following factors is required for the Inversion of Temperature ?
(1) Short day (2) Clean air
(3) Highlands (4) All of the above
130. 3I¥a SIENIET T AT I geel ST 9e2dTd A4,
(1) 25°d 35° I A7fuT fdon (2) 0°d 5° I feT gfdqor
(3) 5°9 15° I U1 fequr (4) 15°q 25° IaT anfer gféqor
Horse latitude high pressure calm belt is found in latitude.
(1) 25°to 35° North and South - (2) 0°to 5° North and South
(3) 5°to 15° North and South (4) 15° to 25° North and South
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181, WRNSZ S HrgeaT QA T TR W AY IrEE vl
(1) qfvem TEnsg ' (2) wUBATST
(3) fand (4) THIH
region of Maharashtra receives rainfall from both the branches of
S.W. Monsoon. ‘
(1) Western Maharashtra © (2) Marathwada
(3) Vidarbha ' (4) Konkan

132. 2011wmwmﬂmﬁmmﬂiﬁ%@hﬂtm?

(1 Twifem (2) T
3) figh - 4) el
According to the Census 2011, which district has the highest sex ratio in
Maharashtra ?
(1) Gondia " (2) Ratnagiri
(3) Sindhudurg (4) Gadchiroli
133, UERISIAT TihEEAH! e 1951 HeY arfor 2011 7 Bret,

| (1) 110, 465 (2) 175, 361
(3) 104, 365 (4) 60, 265
The density of population in Maharashtra was ' in 1951 and in
2011.
(1) 110, 465 (2) 175,361
(3) 104, 365 (4) 60, 265

134. CHEET FENTE TATAR FANE B TS - THIACT Q.
(1) 699 af (2) 1439 @ErfE
(8) 157 30 Fwi=n (4) 309 59 et
According to the age group structure of populaticn, age group is
considered as unpreductive.
(1) Above 6 years (2) TUnder 14 years
(3) 15 to 30 years old (4) 30 to 59 years old
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2001 =T SFVAZER WERIETHE dRpeei=n Saidl FAEER feeier e feeien e,
Qi) IEE T HieE ‘

(1) 3, TR, TR, JSTE, JEHETR

(2) o, [, TR, JSTE, AFUGTR

(3) a1, YN, TR, HETEA, JSTE

(4) o, IR, FAEHETR, 0, JSTE

According fo the Census 2001, the district groups are given in descending order of
population. Identify the correct group.

(1) Thane, Nashik, Pune, Jalgaon, Ahmednagar

(2) Thane, Pune, Nashik, Jalgaon, Ahmednagar

(8) Thane, Pune, Nashik, Ahmednagar, Jalgaon

(4) Thane, NaShik, Ahmednagar, Pune, Jalgaon

136.

TERT TSI AhaEl gvaids 918 (2001 — 2011) .
(1) 1599% (2) 11-50%
(3) 21-37% (4) 36:01%

The population decadal growth rate in Maharashtra (2001 - 2011} is
(1) 1599% (2) 11-50%
(3) 21-37% | (4) 36-01%

137.

5 9H, 1972 WTeht Gg® U HUTSAT VEWYRY O¥d 509 WoR & 5 IF @ fRaw arifas
i 3 TRvE woR FRvEe Eefiedt s It @@ 2

(1) wrEm

(2) fant & Rl

(3) 9|

(4) TRpA

At which one of the following placeé did the United Nations Convention on 5% June,
1972 pass a resolution and decide to celebrate 5t June as the World Environment
Day? _

(1) Stockholm

(2) Rio De Janeiro

(38) Paris

(40 Tokyo
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138. Site=n @4 ;
wa I wa 11
Tiawr weas g
(a) G el qr=ar (i) A
(b) T Fr=ET HEH (i)
(c) wE === AW (iii) IW T
(d) (iv) Wer wem
gt I .
(a) (b) (©) d)
(1) (iv) (i (iii) (i)
(2) @i (iii) 4y (iv)
(3) @G0 (iii) (iv) )]
4 @ (iii) (ii) (iv)
Match the following :
Column 1 Column II
Environmental Movement State
(a) Save Silent Valley 4 ~ (1) Karnataka
(b) Save Taj Campaign (i) Kerala
(c) Save Soil Campaign (iii) Uttar Pradesh
(d) Kaiga campaign (iv} Madhya Pradesh
Answer options :
(a) (b) () - (d)
(1) Gv) i) (iii) (i)
(2) (i) (ii) (i) (iv)
(3) @i (ii1) (iv) (i)
(4) @ (iii) (ii) (iv)
139. CRZ 1991 YT 3w onfor Freiar 32 S Sofia wiedma 2

(1) CRZ-1 (2) CRZ-1I

(3) CRZ-III (4) CRZ-1IV

In which category do Andaman and Nicobar islands fall as pef CRZ 19917
(1) CRZ-1I , (2) CRZ-1II

(3) CRZ-II (40 CRZ-1V
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140. 313, FEm, aEgs 3. AW TR ghar HoETETEt anmm=T 9 SEre Ty wear  raE

TN : |
(1) 19 St (2) a IEgEM faiite
(3) weRTERT sofi (4) vy gefas

A tool to calculate natural areas required to satisfy human needs like food, housing,
transport, etc. means

(1) Food Web (2) Biomass Pyramid
(3) Herbivorous animal (4) Ecological Footprint
141. Safafroden gaema ‘St e TSI+ 'W.
(1) TENSY (2) WY WeW
(3) wAleH ' 4) B
The ‘Appiko Movement’ for the protection of biodiversity was carried out in
State.
(1) Maharashtra (2) Madhya Pradesh
(3) Karnataka (4) Kerala

142, % ied WA HERTSIIG Taid o SUTe1 SIS 3T ?
' (1) =g (2) HAR (3) B (4) TORTA

Where is the longest tunnel situated in Maharashtra on Konkan Railway ?
(1) Karbude (2) Karanjadi (3) Kudal (4) Mangaon

148. Yd TR AT T, Tt I AR A faRfim e TR
(1) @ =gQ ATE T Thid=h
(2) & U A6 W TSl Hiwe
(3) & =qu e ffgemm s s yw
(4) T =g AHH HOT Wvel Rdrd Hewe
Established by the Government of India, __ has developed ‘Energy Star
Label’.
(1) 'The Bureau of Energy Efficiency
(2) The Bureau of Star Energy Project
(3) The Bureau of Distribution and General Programme
(4) The Bureau of Common Property Resource Project
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144, T3 (WHL) B WA 3908 HehIelt TEfud g,
(L o
(2) 993
(3) &@WHH
(4) WIETETE
INSAT-3D (Metrosat) is an Indian satellite associated with the
component.
(1) Education
(2) Sea
(3) Climate

(4) Resource

145. et foum wa -
(a) Fo e I AY SR,
(b) FEAIE T W 1969 T e,
(¢) . UHET B TEN TS AR
it I
(1) TRum (a) 21f (b) s 3mea
(2) T ()= o
(3)  faum (a) amfdr (c) ai¥a SR
(4) T (a), (b) a0 (c) T SR
Observe the following statements.
(a) The headquarter of ISRO is at Chennai.
(b) ISRO was established in 1969.
(¢) K. Madhavan is the director of ISRO.
Answer Options :
(1) Statements (a) and (b) are correct
(2) Statement (b)is correct
(3) Statements (a) and (c) are correct

(4) Statements (a), (b) and (c) are correct
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146. fRR SuUE gefargd araroNe fedt Jhat fBr smam 2

(1) 1000 f .. (2) 36000 ..

(3) 3000 f&.h. (4) 100 fs1ft.

At what approximate height from the Earth, are the geostationary satellites
stationed ?

(1) 1000 km (2) 36000 km

(3) 3000 km (4) 100 km

147. il 4 fiftre sumeiER fieor=n Wl wme Riteedgr mew w67 wm Rffad swom=n
YoTTelter U,
(1) T ada fegiem gomeft
(2) wrfas ferd gonett
(8) <mides mifeef yorett
(4) TGS TG Jome!

A location finding system which uses radio receivers to pick up signals from
minimum 4 special satellites is called

(1) Real Time Navigation System
(2) Global Positioning System

(8) Global Information System
(4) Global Processor System

148. HIVETE eHTEAT AT SR Yo Susia 4 a1 @ gavis midd fiean, dedd s0
I FUE R0 AT 9 TEUETG.
(1) wIReERd
(2) FEIHA
(3) e A RfEd (GPS)
(4) simferes aifgdt gomeft

The science and art of acquiring various information about any object from a
distance, without having any physical contact with the object, is known as

(D Photog‘fammetry

(2) Remote Sensing

(8) Global Positioning System

(4) Geographic Information System
THET PHTATS! TN / SPACE FOR ROUGH WORK
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feres mifedl woneht (Sh.at.w@. ) aed @relieteh) Siven gehar quey gt ?
(a) fefea 3

(b) HTF AN

(c) = IV TTFRAT

(d) aderh gd

gt I ;

1) (d)3rg T

(2) (a) 30007 (b) AT A

(3)  (b)=nfi (¢) AT IMEQ

(4) (a) 3o (c) =T mEa

Geographic Information System (GIS) consists of
(a) Dugital data

(b) Computer hardware

(¢ Computer software

(d) All of the above

Answer Options :

(1) (d)is correct

{2) (a)and (b) are correct

(3) (b)and (c) are correct

(4) (a)and (c) are correct

150.

gardlem oa s foarren de wreft afifiat 1 e I fem TEUATd.
(1) <FE

(2) e T

(3) Heg I

(4) W&

The line traced on the ground directly beneath the aircraft during acquisition of
photography is called the

(1) Ground Line

(2) Nadir Line

(3) Centre Line

(4) Principal Line
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LAl — (gs 17w g3.....)

(8) TFyfaraed fafga oo fafire Srie +=8 M (6 aF) wa. TyfSrreafaiaa STafeea a1 5
FITEAR & FH Hedid  HId] FUIMET IUH FA AR, W IF IEA T WHHR IHGIREL IETH
I oo “glgmed gomn RywHAT Tfiey SEEEas SAufEm-82" Tdid SgdgEn
TG d5 T S =TT HUTA U g9 SRIEmErsar A /R 13w 'R whEear ssrear g
EIERETS

(9) T YHHFEE P fafdd Soch I= SueEE SHeaen # TR W siEt st
U3 AUAE WEEl AR, W OdeTSeETdt WoAgd] SHEERH SUeET Sueheeen WhT-1
FHAHFTFRS 7 THORaT ot Ul snavEs AR

. 5. 201.

9. %. 201.

olfoll ol
el we e FoArETE Sl gord: T S ?
(1) @i gy awEd (2) $vaeg femarm
(3) UM THE T (4) TITSHT MES

o SN A W 43) TS qHHIET U7 IE e, WHe O Y I “(3)” g,
JEqd WIEETH ol U9 3. 201 FH0A IW-HH “(3)” ? ads [ian srifed wed
ZTrafam TEvES 3.

© ® @ ©

AT TG TG TRAYfEehdiel Wedsh WITET qHe -3 &1 gRetel Woaden qeie
IOEFRIIA o W TWHRARIEEE Geid 9y U0l SEifhd #E gradiEr. gesiar
e AT IITE AT aad, Ofe @ 9 ue 91ae 4,
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